Anx B - Work Completion Report

	the state of the second					0.01	
Project/site Nilg	Nilgiri Heights	Nature of work	Painting	ק	Dt. site bills reg.	21/03/24	1
Block no. A-E	A-Block	Work done from date	28/02/24	м	M-codex bill ID.		
WO no. NA		Work done to date	05/03/24	W	WO issued ?	NA	1
WO date NA		Contractor bill no.		G	GST bill required?		
Sl. No. Unit/floor	loor Details of work		Qty	Units	Rate ID	Rate	
no							
1. A-Block		A-Block 5th 8th 9th 10th floor corridor walls	21946	SFT	PT109	5.50/-	
	painting 2 coats of Luppam work	f Luppam work .	1				
2.	A-Block 5th 8th 9th	A-Block 5th 8 th 9 th 10 th floor corridor	7082	SFT	PT109	5.50/-	
	ceiling painting 2	ceiling painting 2 coats of Luppam work .					
3.							
4. Deduction of		Deduction of windows and open place	1005	SFT	PT109	5.50/-	
windows						3	
<u>5</u> .							
6.							_
7.							
8.							
9.							
10.						Total	
Remarks:							
Approved by project manager V E	manager V CD DI	Approved by QS team		A	Approved by Director/E&D team	ctor/E&D tear	RI
Sign:	Training and	Sign:		S	Sign:		
Date:	2 1 MAR 12024	Date:		D	Date:		

sign of respective E&D member to be laken of the provide a second member of the provided and the provided an

1705581038_Intil memo no. 918-001 - QS - Anx B - Work Completion Report (1)

1,54,123.20	Total amount:	ľ					
	1,306.80	5.50	Sft	237.6			
	4,224.00	5.50	Sft	768.0	Deduction of windows and open place	Deduction of windows and open place	2
1,59,654.00							
	2,508.00	5.50	Sft	456.0			
	2,508.00	5.50	Sft	456.0			
	2,640.00	5.50	Sft	480.0			
	13,068.00	5.50	Sft	2376.0			
	18,216.00	5.50	Sft	3312.0	Block A-5th,8th,9th,10th floors corridor Ceiling painting 2 coats of luppurn work		
	7,774.80	5.50	Sft	1413.6			
	7,774.80	5.50	Sft	1413.6			
	8,184.00	5.50	Sft	1488.0			
	40,510.80	5.50	Sft	7365.6			
	56,469.60	5.50	Sft	10267.2	Block A-5th,8th,9th,10th floors corridor walls painting 2 coats of luppum work	Block-A Corridor	-
ltem Head Tota	Amount [1	Rate	Units	Quantity	Item Description	Item Head	S No.
					00.03.2024		Date:
						d By:	Prepared By:
					M. Vijayalaxini	tor	Contractor:
					Painting work	Work Description:	Work D
					NGH		Project:
					MRPLLP	Company Name:	Compan
	y raj	Approved by: Vijay raj	Approve			ESTIMATE SHEET	ESTIM

	Company Name: Project: Work Description: Contractor:	MRPLLP NGH Painting work M.Vijayalaxmi				Approv	Approved by: V	Approved by: Vijay raj
	Prepared By: Date:	Anil.M 06.03.20243						
S No.	Item Head	Item Description	Le	Length	Width	Wid	Width Height No's	Width Height
-	Block-A Corridor painting	Block A-5th,8th,9th,10th floors corridor walls painting 2 coats of luppurn work		276.0	276.0 1.0		1.0	1.0 9.3
				198.0	198.0 1.0		1.0	1.0 9.3
				40.0	40.0 1.0		1.0	1.0 9.3
				38.0	38.0 1.0		1.0	1.0 9.3
				38.0	8.0 1.0		1.0	1.0 9.3
		Block A-5th,8th,9th,10th floors corridor Ceiling painting 2 coats of luppurn work	138.0	Ö	.0 %.0		·6.0	6.0 1.0 4.0
			200	99.0	9.0 6.0	6.0	6.0	6.0 1.0
				19.0			6.0 1.0	6.0 1.0 4.0
			19.	19.00	00 6.00		6.00	6.00 1.00
2	Deduction of windows and open place	Deduction of windows and open place		4.0	4.0 %.0		8.0	8.0 1.0
						Q O	6.6 9.0 1.0 4.0	9.0 1.0

Bill for Equipment charges

M.Vijayalaxmi, Mallapur Hyderabad

Date.11.03.24

Location:	Pocharam
Project / Site:	Vilgiri Heights
:to rovet al	Nilgiri Heights

Type of Work: Painting work Towards: Allowance for Consumable Charges

(c) oʻt oʻm	Total Amount = $1,54,123/$ - Work done from date: $28.02.24$ to date: $05.03.24$	
-/679°19'88	10 TH floors corridor wall painting Luppam 2 coat work done.	
	Brief description of work done: Towards 5 TH , 8 TH , 9 TH ,	Ί.
J nuomA	Description	.0N S

Amount in words: Sixty One thousand six hundred and Forty nine rupees only.

_:ngi2

Bill for labour charges

M. Vijayalaxmi, Mallapur Hyderabad

Date.11.03.24

Pocharam	Location:
Vilgiri Heights	Project / Site:
Vilgiri Heights	In favor of:

Charges	work	Painting	Туре оf Work:
	work	Allowanc	Тоwards:
	MOLE	Painting	Type of Work:

-\\$28,05.24/-	Total Amount = $1,54,123/$ - Work done from date: 28.02.24 to date: 05.03.24	
tanomA.	Briet description of work done: Towards 5 TH , 8 TH , 9 TH , done. 10 TH floors corridor wall painting Luppam 2 coat work	
•	Description	'ON S

Amount in words: Thirty thousand Eight hundred and Twenty Four rupees only.

_:ngi2

Bill for Allowance for equipment

,imxalaxmi, M.V.Jijayalaxmi, Hyderabad

Date.11.03.24

Location:	Росћагат
Project / Site:	Vilgiri Heights
:to rovet al	Vilgiri Heights

Allowance for Equipment	:sbyrwoT
Painting work	Type of Work:

Rs.30,824/-	Diff dence. 1000 01 work done: 1000000 5.11, 8.11, 9.11, 10005 contidor wall painting Luppam 2 coat work done.	.т.
1unowy	Brief description of work done: Towards 5 TH , 8 TH , 9 TH , Brief description of work done: Towards 5 TH , 8 TH , 9 TH ,	.ι

Amount in words: Thirty thousand Eight hundred and Twenty Four rupees only.

ingiz